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7) The senior classes at High School A and High School B planned separate trips to tl
park. The senior class at High School A rented and filled 13 vans and 11 buses wit
School B rented and filled 1 van and 5 buses with 119 students. Every van had the
students 1n 1t as did the buses. How many students can a van carry? How many sti
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8) Ndiba and Maria are selling cookie dough for a school fundraiser. Customers can |
white chocoloate chip cookie dough and packages of gingerbread cookie dough. N
packages of white chocoloate chip cookie dough and 4 packages of gingerbread co
of $130. Maria sold 2 packages of white chocoloate chip cookie dough and 8 pack
cookie dough for a total of $98. Find the cost each of one package of White chocol
dough and one package of gingerbread cookie dough.
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Solve each system by elimination.
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